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1.        c.  Malabar 

2.        b. Terrestrial Photography 

3.        d. Indian Police Service 

4 a. France 

5 b. Autumn 

6 c. Nandalal Bose 

7 a. Micro Finance 

8 d. Marthanda Varma 

9 c. Iron and steel industry 

10 b. Provide treatment facilities 

11 Direct Tax 
Tax is paid by the person on whom it is imposed 
Indirect Tax 
Tax is imposed on one person and paid by another. 

12 The maintenance cost is less. 
It is comparatively less expensive that the rail and road transport. 
It is good for carrying heavy goods. 
Water transportation is used in defense in the form Navy. 
An important role is played by the water transport in foreign trades. (Any Two) 

13 Family is the primary social institution. 
One learns to respect elders and to engage in social service from family. 
Family fosters and maintains sense of responsibility among its members. 
Inspiration and encouragement from the family will develop civic consciousness. 
The family nurtures the concept that each individual is for the family and the 
family is for the society. 

14 Legal Metrology Department. 
Food Safety Department 
Central Drugs Standard Control Organisation 
Drugs Control Department 
Food Safety and Standard Authority of India. 

15 Topographic maps are used for 
To analyse  the physical and cultural features of the earth surface. 
For military operations and in the preparation of military maps. 
Identification and studying of the natural and cultural resources of region as part 
of economic planning. 
For urban planning. 

16 E-Governance is the application of Electronic Technology in administration 
It helps to obtain Government Services easily in speedy manner 



Eg:- Single window system for Higher Secondary Admission (HSCAP), 
Online application for various scholarships, Akshaya Centres 

17 The consumer expects the product he is buying is of good quality, right quantity, 
is reliable, worth to the price he is paying and no harmful chemicals used in these 
products. 

18 The Lakshadweep Island group. 
Andaman and Nicobar Islands 

19 Developing human resource increases productivity of the workers. 
When the human resource develops, the economic inequality of the society 
reduces. 
Developing human resource comes up with entrepreneur activities. Developing 
human resource uses natural resource effectively. 
Developing human resource ensure social welfare. 
Developing human resource brings advancement in technology and use is for 
development. 

20 Mutual respect for each other’s territorial integrity and sovereignty, 
Mutual non-aggression 
Mutual non-interference in each other’s internal affairs, 
Equality and mutual benefit 
Peaceful co-existence 

21 Social survey, interview, observation and case study 

22 Education helps in the development of a country. Education has a major role in 
molding skilled people. 
Education 
↓ 
Improves the skills of individuals 
↓ 
Knows better technology 
↓ 
Helps to secure better job and income 
↓ 
Improves the standard of living 



23 

 
24 Ramakrishna Mission -  Swami Vivekananda   

Aligarh Movement - Sir Syed Ahmad Khan 
Theosophical Society -  Annie Besant 
Brahma Samaj -  Raja Rammohan Roy 

25 1. Location and Latitudinal Extent, 2. Distance from the Sea, 3. The Northern 
Mountain Ranges, 4. Physiography, 5. Monsoon Winds 

26 a. Obligatory functions are those that the state has to implement at any 
cost at all times. State cannot abstain from its obligatory functions. If 
obligatory functions are not performed, the life and property of people 
cannot be protected. Some of the obligatory functions of the state are 



Protection of rights, Implementation of justice, Protection of boundary, 
Maintain internal peace 

b. Force theory, Evolutionary theory, Divine Right theory, Social contract 
theory. 

27 a. E-banking or Electronic Banking refers to all the forms of banking 
services and transactions performed through electronic means. It allows 
individuals, institutions and businesses to access their accounts, transact 
business, or obtain information on various financial products and services 
via internet. These type of banking transactions does not need the support 
of employees and banking instruments. Only bank account and net 
banking facility are needed for this. 

b. Core banking is a banking facility under which all the branches of the 
banks are brought under a central server to enable transactions from one 
bank to another. It operates with the help of internet. Making use of this 
facility, an individual can send money from his account to his friend’s 
account in another place. Facilities like ATM, debit card, credit card, net 
banking, telebanking, mobile banking, etc. are brought under one 
umbrella through core banking. This made bank transactions easy. 

28 A. Permanent land revenue settlement system was mainly implemented 
among the farmers by the British. In which, Zamindars were the owners of 
the entire land where they had the right to collect tax. While zamindars 
became the owners of the land, the actual farmers became tenants. 
Farmers were to pay up to 60% of the yield as tax. Tax was to be paid even 
at the time of poor yield. The tax was to be paid in cash strictly before the 
cut-off date 

B. In Mahalwari System, the village headman was assigned the 
responsibility to collect tax. The tax rate was excessive in this system too. 
The entire village (Mahal) was considered as a single unit for tax 
collection. 

29 a. GMT : The zero degree longitude is known as the Greenwich Meridian. 
Time is calculated worldwide based on the Greenwich Line. The local time 
at the prime meridian is known as the Greenwich Mean Time 

b. IST: The 82½0E longitude which passes almost through the middle of 
these longitudes has been fixed as the standard meridian of India.  The 
local time along this longitude is generally considered as the Standard 
Time of India. This is known as the Indian Standard Time. The difference 
between the Indian Standard Time and the Greenwich Mean Time is 5½ 
hours. (5 hours 30 minutes) 

30 Fascism:  
Antagonism to democracy  
Diffusion of aggressive nationalism 
Military dictatorship 
Justifying war 



Glorifying the nation  
Deifying the past 
Adoring the purity of race  
Opposition to socialism 
Destruction of political rivals  
Indoctrination of ideologies through arts, literature and education. 

31 A cash crop is the one that is cultivated to be sold in the market to earn 
profits from the sale. 
Most of the crops grown today in India are cash crops cultivated for selling 
in the national and international markets. 
Most of the cash crops grown in the developing nations are sold to the 
developed nations for a better price. 
Well-known cash crops include coffee, tea, cocoa, cotton, and sugarcane. 

32 Civic consciousness means social ethics. It reflects the actual personality 
and shows the responsibility of any person.  Civic consciousness influences 
the progress of the state and society. In the absence of civic consciousness, 
human beings will become selfish and all the activities will be for their 
own achievements. This will adversely affect social life. In such a society 
there will be no peace or security. 
 
Formation of Civic consciousness is determined by life situations and 
experience. The important factors which determine civic consciousness 
are Family, Education. Social system Association, Political System 

33 The first national level struggle by the Indian National Congress under the 
leadership of Mahatma Gandhi was the Non-cooperation movement. The 
confidence gained from the Rowlatt protest motivated Gandhiji to declare 
Non-cooperation movement against the British. 
 
Various effects of Non-cooperation movement are given below.  
Farmers in Awadh refused to pay taxes.  
The tribal groups in Northern Andhra entered the forests and collected the 
forest products violating the forest laws. 
Farmers in Uttar Pradesh refused to carry the luggage of the colonial 
officials. 
Workers struck work. 
Lawyers boycotted courts .  
Students acquitted colleges and schools run by the British 
The public, including women, burnt foreign clothes on the streets. 
 
In addition to his appeal for non-cooperation, Gandhiji motivated the 
people to participate in constructive programmers. Inspired by this, people 
began to make indigenous products, Spin Khadi cloth using charka, 
establish national schools.  



Gandhiji withdrew the Non-cooperation Movement due to a untoward 
incident in Chawri Chawra village in Uttar Pradesh. In response to the 
police firing at a mob, the villagers set ablaze the police station and 22 
policemen died. 
 
This incident disappointed Gandhiji and he released that people could not 
fully understand the essence of the principle of Ahimsa. So he called for 
stopping the Non-cooperation Movement. 

34 Planetary winds Areas where they blow Features 

Trade winds 

Sub tropical high pressure belt 

to equatorial low pressure belt 

 

The Zone where the trade winds from 

both the hemisphere converge is known 

as the inter Tropical convergence Zone. 

These winds blow from north cast in 

Northern Hemisphere, south east in 

southern hemisphere 

Westerlies Sub tropical high pressure belt 

to Sub-polar low pressure belt 

In both hemisphere these winds arc mostly 

from the west. The westerlies are stron- 

ger in the southern hemisphere due to 

the vast expanse of oceans in the 

southern hemisphere 

Polar easterlies Polar high pressure belt to sub 

polar low pressure belt 
These winds blow from the east in both 

the hemispheres. 
 

 Global pressure belts: 
 Atmospheric pressure is almost the same in between certain latitudes. It is called 
Global pressure belts. 

a) Equatorial low-pressure belt (doldrum): 

Situate between 50 North and 50 South latitudes. 

As the sun’s rays fall vertically here, the temperature will be high. 
The heated air expands and rises up.  Winds are very feable here 
(doldrum) 
b) Sub tropical high-pressure belt: 

Situate at both sides of 300 N & 300S latitudes. 

The hot air ascending from equatorial low-pressure belt cools gradually 
and subsides at the sub-tropical zone due to rotation. 
c) Sub polar low-pressure belt: 

Situate at both sides of 600N & 600S latitudes. 

As this zone is close to the Pole the air is colder here. But the air is thrown 
away due to the rotation. 
d) Polar high-pressure belt:  
Situate at 900 N & 900 S. 
As the severe cold prevails here low pressure is experienced. 



 

 

35 Causes / Circumstances 
1. Taxation policy of England.  
2. Mercantilist Law  
 - Navigation Act Only British ships for import and export  
- Stamp Act British stamp on all legal documents  
- Import Tax on tea glass and paper + Food and Quarters for British troops  
3. Influence of Intellectual Persons 
 
Consequences 
1. Gave direction and motivation to the later freedom struggles and 
revolutions all over the world 
2. Put forward the concept of republican form of government 
3. Prepared the first written constitution. 
4. Contributed to the concept of federal system that ensured freedom 
and authority of states in the union . 
6. George Washington First President 


